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Find the indicated term of each arithmetic sequence. Aol ddlite JSJ ad] sLinall sl s>
ai=14, d=9, n=11 ais for 12,25, 38, ...

0!,, :0‘, - CVI-*‘)d
e S L
a, = loy

Op=0 +(n-1)d

Qa

I

l? lz""l?’( /3)

2

233

Write an equation for the nth term of each arithmetic sequence.

13,19, 25, ...

gl dyllize JSJ Gl sl Aslae S|

a5=-12, d=-
aw . a(( + (w—[)& J:.. l9—|3 = 6 O\VL: 0—( —-\-(V"‘\)d ayl = O(I -1‘(‘4‘()(1
Q, =13 +(Mm-0(6) ~2 = ¢y 4 (3-1)(=H) G =4 4 (=) (-4)
0, =13 4+6n-¢ 12 = a; + (=) =4 4 xYy
CLM:?“I"éVI 0-|:—IZ-1-I‘:‘{- Qv = %=4n
Find the arithmetic means in each sequence. Adlie Js &3 duluwcdl blwgdl s>
6,2,2?2,2,42 — QS:LrZ. -4,2,2,2,8 —;>05=X
Ay QG &y Oy Qs a, 8, &3 dy Ge
C{W:C{ITCW“()J =>d: szq‘—é:[_Z) av,: al-l—(n—’)J = d: 8_;-—:@
42 = 6 +(5-0d 8 - ~4% 4 (5-Dd
2 49 A9 ;rj, £ 3 /:i :\3’
42 = 6 + 4 6,157 24 733 Tuz | g _ _y 44 Sy, o 2T s g
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Find the sum of each arithmetic series.

4+8+12+ ... +200

O, =a..,+(\’l—\)cJ < d=-8-w-y @c___.oa

200 =4 4 (-D ()| Sn= 1 (a,+ 0

200 - Y :(V]—\)(Lr) S

the first 50 natural numbers
£,2,%,4 ., 50

51«= %CO‘\ ‘fa“)

188 — 12 + (w=1)(x)

mw = \23 ‘\1-1- \ =45
L
Sn: -"z(a.-* av\)
45
Sugs £ (12 4188)

- 45¢o0

(om 52 (014 50) | S50 = 52(a,4050)
)\26_ 4 =n :ZS(L-\'_+ZO°) :25([—,—50)
S5p = W = 5loo = /Z?S
ai=12, a,=188, d=4 an=145, d=5, n=21
Aoy = O 4 (n-1)d < n PN

QM = O+ ( V"‘)) (l
o= 0, 4 (21-1)(5)

<

alw

14T - &, 4+ 26(5)
Sn= %(Qt—rc‘n)

545; %L(qs.rms) - 1993

Find the first three terms of each arithmetic series.

a1=8, an=100, S.=1296

n
‘SIA = ‘z’éat—(‘ah)
1296~ ”_1(8_}_100)

2 (\294) = v (1=%)

__201296) _[7%
7= /o ‘Q
Q, = O —|—(V\—l>d

(60- 8 + (24 -1)d

oo =8 4 23d v 465 JOI s et
/] _
d - (oo -% :@ L,LJLJ)J’,
TR S e
= g 1" g

gl Aaabuaio JSI Jo31 BN 3911 2>
n=18, a,=112, S,=1098
Sy =

" %Cal—\-avJ

07§ = 1% (ac+ 2)
z

1098 = 9 (a, + u2)
098 _ o, 412

(:1,\_;)\}‘(5\5 J sl
y@ L ol 6 Cand

a, = 7 (n-1)d

l2. lo +(8-1)d b6
2 = 10 4 (7d lo, 16 22
d . lUz-lo (7
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- MULTIPLE CHOICE Find > (3k + 9).
k=1
A 45 (C)342
B 78 D 410
();{\J\»;‘ ke - | = ;= A Sy = —\%CQ(TC\V\\)
NNk oz = Q= 302049 = 43 ;L;_Q\z ~ 45B)
n=(2-1) 41 =12 | 30(2@
Find the sum of each arithmetic series. Al dldain JS E9ox0 1>

16
E(Zk +6)
k=5

LN 3 kes = = 2(5) 46 = 16
oD kslb s a,=206) 46 = 38
na=(16-3)+1 =12
Su =2 (G + Gun)

= 2 (l6 4.38)

12
Z(—Bk +2)
k=0

J}D\}\ K=o =>a./:—3(0)+'2_ =2

WP k=2 =>Q,= —3312)+2= —34
(12-0) «1 = 3
Su= —V\Z— (a4 Q)

= % (’2- . (-3“))
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